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All questions carry eqnal marks

1: Determine the forces in the members of the pin-jointed truss shown in figure 1. [15]
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2. Determine the forces in all the members of the truss shown in figure 2 by using method
of joints. [15]
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Figure: 2

3. A mild steel bar 100mm diameter is bent as shown in figure 3. It is fixed horizontally at
A and a load of 500N hangs at D. Draw the bending moment diagram for the parts AB,
A BC-ard CD, md‘catmg the max;mum values Fmd\the maximum }sendnlg stress. F;nd also™
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4. A three hmged arch has span 20m and arise 4m The arch carries a umformly dnstnbuted
load of 20KN/m on the left half of the span. Find the horizontal thrust at each support and

location and magnitude of the maximum bending moment of the arch. [15]
- - Detqmme the prop reaction and the deflection at mid-span ofa progped cantilever beam »
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6.a) Determine the fixed end moments for the loaded beam shown in figure S. Draw also

BMD for the beam of span ‘I’
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b) A beam 10m long fixed at both ends carries a umformly distributed load of 4500N/m
— - over-the entire span.-Find the mlaxm_\mn bendmgand maximum bcndmg deflection, Take-. A
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7 The support B of a continuous beam shown in figure 6 has settled by 12mm Find out the
moments at supports. [15]
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Figure: 6
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